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QUESTION 1

An administrator is applying a newly created agent configuration to an Endpoint server. Upon inspection, the new
configuration is unassigned in the Endpoint Server Details.

What is a possible cause for the new configuration failing to be assigned?

A. the system default settings were saved to the new agent configuration

B. the server that the new agent configuration was applied to needs to be recycled

C. the new agent configuration was saved without applying it to the Endpoint server

D. the new agent configuration was copied and modified from the default agent configuration

Correct Answer: C

QUESTION 2

Which two fallback options are available for a \\'Network Prevent: Remove HTTP/HTTPS\\' content response rule when
a web-based message contains confidential data? (Select two.)

A. redirect the content to an alternative destination
B. block the content from being posted

C. encrypt the content before posting

D. remove the content through FlexResponse

E. allow the content to be posted

Correct Answer: BE

QUESTION 3

You have a system that has two disks--diskO1 and disk02, which are mapped into the system configuration during boot
as disks c0t0d0s2 and c0t1d0s2, respectively. A failure has caused diskO1 to become detached. What would you do to
view the status of the failed disk01?

A. Use the vxdg list command

B. Use the vxdg —s list command

C. Use the vxprint command

D. Use the vxdisk list command

Correct Answer: D
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QUESTION 4

Which command attempts to find the name of the drive in the private region and to match it to a disk media record that
is missing a disk access record?

A. vxdisk
B. vxdctl
C. vxreattach
D. vxrecover

Correct Answer: C

QUESTION 5

Which command will you use to determine the operating mode of vxconfigd?
A. vxdctl enable

B. vxdctl mode

C. vxmode

D. ps ?f |grep vxconfig

Correct Answer: B

QUESTION 6

Which action is available for use in Smart Response rules and Automated Response rules?
A. modify SMTP message

B. block email message

C. limit incident data retention

D. post log to a syslog server

Correct Answer: D

QUESTION 7
You are auditing a current storage environment that is not utilizing storage tiering. The information gained from the audit

is to be used in a new storage tiering design that will have 4 tiers, Tiers 1-4. You need to determine the location for data
that is not directly related to an enterprise\\'s business, but nevertheless must be retained.
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Where should you store this data?

A. Tier 1: High-end storage arrays with fast, reliable network connections.

B. Tier 2: High-end arrays, but performance is not a priority.

C. Tier 3: Mid-range to low-end storage arrays with fast, reliable network connections.
D. Tier 4: low-cost media, such as tape, with little consideration given to performance.

Correct Answer: B

QUESTION 8

You have just performed maintenance operation on a system where VXVM is installed. When you start the system you
realize that some disks have entered the FAILED state. After the inspection of the system, you discover that a cable is
unplugged. You reconnect the cable. However, after reconnecting the cable, you need to move these disks out of the
FAILED state.

How should you resolve this error?

A. Use the /usr/sbin/vxdctl enable command

B. Use the /etc/vx/bin/vxreattach command

C. Use the vxmend —g command with the fix clean plex option

D. Use the vxvol —g command with the start volume option

Correct Answer: B

QUESTION 9

You have installed site awareness licenses on all hosts in the remote mirror configuration. You want the volume to be
automatically mirrored across sites when it is created and you specify the allsites=on attribute with the vxassist
command.

Which read policy do you need to set to accomplish this task?

A. Siteread policy

B. Round robin policy

C. Prefer policy

D. Select policy

Correct Answer: A

250-513 PDF Dumps | 250-513 Study Guide | 250-513 Braindumps 417


https://www.certbus.com/250-513.html
https://www.certbus.com/250-513.html
https://www.certbus.com/250-513.html

www.CertBus.com https://www.certbus.com/250-513.html
CE RT 2024 Latest certbus 250-513 PDF and VCE dumps Download

QUESTION 10

When you attempt to access Quick /O files with vxfddstat application on Veritas Storage Foundation for Oracle, you get
an error: Running vxfddstat or giostat on a Quick I/O file will return "Cannot open file ".

How should you resolve this error?

A. Ensure that the file system is ufs file system.

B. Mount the file system without "nosuid" mount option.
C. Unmount and mount the file system.

D. Reconfigure the Quick I/O.

Correct Answer: B

QUESTION 11

A company needs to disable USB devices on computers that are generating a number of recurring DLP incidents. It
decides to implement Endpoint Lockdown using Endpoint Prevent, which integrates with Symantec Endpoint Protection
Manager and Symantec Management Platform. After incidents are still detected from several agents, the company
determines that a component is missing.

Which component needs to be added to disable the USB devices once incidents are detected?

A. Control Compliance Suite

B. Workflow Solution

C. pcAnywhere

D. Risk Automation Suite

Correct Answer: B

QUESTION 12

An incident responder needs to change the status of an incident to \\'Escalate and Notify\\'.
Which two places in the user interface can this Smart Response rule be invoked? (Select two.)
A. Policy page

B. Incident List

C. Incident Snapshot

D. Incident Summary

E. Response Rules page

Correct Answer: BC
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QUESTION 13

A DLP administrator is testing Web Prevent functionality. When the administrator posts a small test file to a cloud
storage website, a new incident fails to appear.

What should the administrator do to allow incidents to be generated against this file?
A. uncheck trial mode under the ICAP tab

B. change the \\'ignore Requests Smaller Than\\' value to 1

C. add the filename to the Inspect Content Type field

D. change the PacketCapture.DISCARD_HTTP_GET value to \\'false\\

Correct Answer: B

QUESTION 14

You are administering the Storage Foundation 5.0 environment in your organization. There is one particular file system
that continually shows a high level of fragmentation.

What should you do to prevent fragmentation?

A. Use the df command regularly to monitor free space.

B. Schedule regular defragmentation runs using the cron command.
C. Set the initial_extent_size tunable VXFS 1/O parameter.

D. Allocate the space available in the file system that best fits the data.

Correct Answer: B

QUESTION 15

You have a customer who has set up a 5 GB full-size instant snapshot volume on one of his file servers. The data
replicated into the snapshot is a combination of code and content elements, which serves as a rapid recovery
mechanism in case of a corruption in a new build installed on the server. The customer tells you that the snapshot is
working correctly, but that the time it takes to refresh the snapshot is unusually longer than expected. The customer is
expecting you to resolve this problem.

How should you resolve this problem?

A. Recreate the snapshot as a space-optimized instant snapshot

B. Use "vxsnap prepare" on the source volume, then remove and recreate the snapshot

C. Use vxassist addlog logtype=dco to enable FastResync on the volume

D. Recreate the snapshot as a traditional third-mirror break-off snapshot
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250-513 PDF Dumps 250-513 Study Guide 250-513 Braindumps

250-513 PDF Dumps | 250-513 Study Guide | 250-513 Braindumps 717


https://www.certbus.com/250-513.html
https://www.certbus.com/250-513.html
https://www.certbus.com/250-513.html
http://www.tcpdf.org
https://www.certbus.com/250-513.html
https://www.certbus.com/250-513.html
https://www.certbus.com/250-513.html

